(Critten

Heavy Duty

Y YV \[ =) =°
WEAGIZ  Rabbit Hutch Assembly_

(item #01550

Revised: 04.18.16 )

All wire must face
into the cage

Left Panel (B)
#902079

Roof Panel (E)
#902073

Back Panel (D)
#902074

\

Pan

\\ Front Panel (C)
y #902072

PARTS DESCRIPTION:
Wingnuts (12)
#902080
Right Panel (B) b »
#902078 : ¥
N
2 V4" Bolts (14)

#902081

Floor Panel (A) Pan Rails
=SS0\ #902075 #902077 114" Bolts (6)

#902082
]

34" Bolts (5)

#902083 ﬁ

Tools Required:
Standard Screwdriver

STEP 1 I

Install Pan Rai
on the Left "B"
and Right "B"
sides using
8-21/4"

Bolts

Is

2 1/4" Bolts

=

i8

Fasten Side Panels (B) to Front Panel (C).
Use 6- 2 1/4" Bolts and 6- Wing Nuts.

Make Sure Door Faces Outward on Left Side
and that the Hutch Slants to the Back.




STEP 4

3/4" Bolt | |

Slide Floor into Bottom of Hutch, Wire
Side Up. Align Side Holes and Fasten 1
Back Panel (D) to Side Panels using Set Roof on Top of Hutch. i

6- 1 1/2" Bolts and 6- Wing Nuts.

' 3/4" Bolt

~Align Hinges and Attach 4- 3/4" Bolts.™

Install “Stop Chain” as Shown Below
using 1- 3/4" Bolt.

Tip: This item
(as any wood)
should be peri-
odically (every
12 to 18 months
depending on
climate) treated
with a non-toxic
exterior grade
stain.

If you have any questions or concerns about this product, contact our customer service

department at 1-800-295-2243 or cs@waremgfinc.com and we will help you with any problems,
Mon-Fri 8:00-4:00 MST



